Section B

Question 1a.

ENS ‘ 0 ‘ 1 ‘ Average

-1, —-a, 2, 2a

This question was answered well.

Question 1b.i.

Marks ‘ 0 ‘ 1 ‘ 2 ‘ Average

Some of the values were often missing.

Question 1b.ii.

‘ Average

R\{—Z,—l,o,l}
2

This question was not answered well. Some students did not exclude 1.

Question 1c.i.

‘ Average

g'(x)=2(x-2)(x+1)(2x—1)=4x’ - 6x* —6x+4

This question was answered well.

Question 1c.ii.

Marks ‘ 0 ‘ 1 ‘ Average




[1 81] r (0.5,5.0625)
216

Exact answers were required. (0.5,5‘06) was sometimes seen.

Question 1c.iii.

Marks ‘ 0 ‘ Average

This question was answered well. Some students used square brackets instead of round brackets.
Others put M instead of U.

Question 1c.iv.

ENS ‘ 0 ‘ 1 ‘ 2 ‘ Average
% 32 17 51 1.2

3(243-9 ) 3(23+9)

Y1=3‘/§x_
1 = 33 33 27

ot
4

=—3fx+ or yl_3\/_x—3[ 27

4

3(V3(4x-2)+9) -3(3(4x-2)-9)

Orylz 4 5y2= 4

, [l,ﬂj or (0.5,6.75)
2’4

This question was answered reasonably well. Acommon incorrect answer was (; f;j .

Question 1d.i.

ENS ‘ 0 ‘ 1 ‘ Average

1 1
Translate 2 unit to the right and %:1.0625 units up.

Some students incorrectly translated to the left and down. Others had an incorrect value for the

. . 81 . .
vertical translation such as E Exact answers were required. 1.06 was sometimes seen.

Question 1d.ii.



Marks ‘ 0 ‘ 2 ‘ Average

N 1 9
Dilate by a factor of ﬁ = 3100 from the vertical axis, translate — unit to the right, translate — units
up
~N10 . . . 3 . . 9
OR translate —— units to the right, dilate by a factor of — from the vertical axis, translate — units
6 \10
up.

This question was not done well. The vertical translation could be completed at any stage in the
sequence. The other transformations had to be in the correct order.
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